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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA  

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Discuss the need of setting up National Labour 

Commission and its major recommendations based on 

section and sectors of workers.  

jk”Vªh; Je vk;ksx dh LFkkiuk dh vko’;drk rFkk blds 

Js.kh ,oa {ks= okj Jfedksa gsrq izeq[k lq>koksa dh O;k[;k 

dhft,A  

2. Describe the objectives, importance and classification 

of labour welfare.  

Je dY;k.k ds mn~ns’;ksa] mi;ksfxrk ,oa blds oxhZdj.k dh 

O;k[;k dhft,A  

3. Define the term workers‟ education and write the 

objectives and functions of workers‟ education.  

Je f’k{kk dks ifjHkkf”kr dhft, rFkk blds mn~ns’;ksa ,oa 

dk;ksZa dh O;k[;k dhft,A  

4. Examine the need, importance and existing problems 

of housing in Industrial Areas.   

vkS|ksfxd {ks= esa vkokl dh vko’;drk] mi;ksfxrk ,oa QSyh 

gqbZ vkokl leL;kvksa ij izdk’k Mkfy,A  
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. Write the impact of globalization on labour welfare.  

fo’oO;kihdj.k dk Je dY;k.k ij izHkko fyf[k,A  

2. Discuss the role of trade union in labour welfare work.  

Je dY;k.k dk;Z eas Je la?k dh Hkwfedk fyf[k,A  

3. Describe the impact of decentralization on labour 

welfare.  

mnkjhdj.k dk Je dY;k.k ij izHkko fyf[k,A  

4. Discuss the policy objectives of wages policy.  

etnwjh uhfr dh uhfrxr fo’ks”krkvksa ij izdk’k Mkfy,A  

5. Highlight the objectives and importance of social 

security.     

lkekftd lqj{kk ds mn~ns’;ksa ,oa egRo ij izdk’k Mkfy,A  

6. Write the meaning and differences between social 

assistance and social security.  

lkekftd lgk;rk ,oa lkekftd lqj{kk dks ifjHkkf”kr dhft, 

rFkk buesa Hksn fyf[k,A  
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7. Discuss the need and scope of social security.  

lkekftd lqj{kk dh vko’;drk ,oa dk;Z&{ks=ksa ij izdk’k 

Mkfy,A  

8. Discuss in brief the important theories of labour 

legislation.  

Je fo/kku ds egRoiw.kZ fl)kUrksa dh laf{kIr O;k[;k dhft,A  

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

1. Workmen‟s Compersation Act provides complete 

social security to the workers.  (True/False)  

deZdkj {kfriwfrZ vf/kfu;e Jfedksa dks iw.kZ lkekftd lqj{kk 

iznku djrk gSA ¼lR;@vlR;½ 

2. All workers having accident during working hours get 

compensation as per the Act. (True/False) 

dkuwu ds vuqlkj dk;kZof/k esa lHkh Jfed tks nq?kZVuk ds 

f’kdkj gSa] {kfriwfrZ izkIr djrs gSaA ¼lR;@vlR;½ 
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3. Employees‟ State Insurance Act was introduced in year 

1950.    (True/False) 

deZpkjh jkT; chek vf/kfu;e o”kZ 1950 eas ikl fd;k x;kA  

  ¼lR;@vlR;½ 

4. There are four types of benefits indicated in ESI Act.  

     (True/False) 

bZ- ,l- vkbZ- dkuwu esa dqy pkj izdkj ds ykHk crk, x;s gSaA 

  ¼lR;@vlR;½ 

5. Payment of Bonus Act was introduced in year 1962.  

     (True/False) 

cksul Hkqxrku vf/kfu;e 1962 eas ykxw gqvkA ¼lR;@vlR;½ 

6. 20% bonus is compulsory for employees to pay as the 

Act.     (True/False) 

20 izfr’kr cksul fu;ksDrk dks dkuwu ds vuqlkj 

iznku@Hkqxrku djuk vko’;d gSA ¼lR;@vlR;½ 

7. Children can‟t be employed as per Contract Act.  

     (True/False) 

Bsdk dkuwu ds vUnj cPpksa dks ugha fu;qDr fd;k tk ldrk 

gSA  ¼lR;@vlR;½ 

8. As per Contract Act children can‟t be employed after 

having contract signed by the parents.  (True/False) 

ekrk&firk ds gLrk{kj ds i’pkr~ cPpksa dks Bsdk dkuwu ds 

vuqlkj fu;qDr ugha fd;k tk ldrk gSA ¼lR;@vlR;½ 
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9. Minimum wages is determined by trade unions.   

     (True/False)  

U;wure etnwjh dk fu/kkZj.k Je la?kksa }kjk fd;k tkrk gSA  

  ¼lR;@vlR;½ 

10. In case of occupational disease of the worker in an 

industry, the worker in entitled to get compensation.   

     (True/False)  

O;kolkf;d chekjh dh fLFkfr eas izfr”Bku dk Jfed {kfriwfrZ 

dk  gdnkj gSA ¼lR;@vlR;½ 
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